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Kead the following passages and answer the questions given ut the end of each passage.

Passapge 1:

The fiest step is for us to realise that a city need not be a source of frustration to its inhabitants; it
can be among other things, a mechanism for enhancing life, for producing possibilities of living
which are not to be realized excepl through cities, But, for that to happen, deliberate and drastic
planning is needed, Towns as much as animals, must have their systems of organs -- these for
transport and circulation are an obvious cxample. What we need now are organ systems for
recreation, leisure. culture, community expression. This means abundance of open space, easy
aceess to unspoilt Mature, beauly in parks and in fine, buildings, gyvmnasia and swimming baths:
and recreation grounds in plenly, central spaces for celebrations and demonstrations, halls for
citizens’ meetings, concert halls and theatres and cinemas that belong to the city. And the
buildings must not be built anyhow or dumped down anywhere, both they and their groupings
should mean something important 1o the peaple of the place.

1 Cities can be made to provide full facilities for life, only if:
A) These can be mechanically developed
[3) Proper transport svatem is introduced
) Cinernas, theatres and concert halls are established there
¥} These are thoughtfully and vigerously designed o serve people's necds

A suitable title for the passape would be;

A} Tovwms versus Animals

B} The Need for Planned Cities

C) Transport and Communication System in a Cily
[} The Meed for Entertainment Centres in a City

-

2 “A city need not be a source ol [rustration to its inhabitants™ means that:
&) One does not expect falfilinent of all life's requirements from a city
By Cily life provides all the essential needs of life

C1 A city does nol necessarily Lift man's standard of living

Dy A city should not defeat the ful [llment of life's aspirations and aims

4. Which one of the following has the opposite meaning Lo the word 'frustration’ in the passage”

Al Facilities B Stimulus C) Meeds D) Dreams

Lh

“The building musl not be built anyhow or dumped down anywhere™ the statemen! implics
that building: :

A sheuld be built with suitable material

) Should be constructed, according to some suitable design, not indiscriminately

1 Shouwld be scattersd 1o provide for more of open space

[3} Should be built to enable citizens Lo enjy nature



A, The word *drastic’ in the passape means:

A) Orderly B} Powertul C)y Consistent 1) Dretermined

T The author talls about "Unspoilt Mature’, In what way can Mature remain unspoilt?
A) If Mature is not allowed to interfere with people's day-to-day life
B) By building cities with the system of organs like those of animals
C) By allowing free acecess to parks and open spaces
D) By allowing MNature to retain its primitive, undomesticated character

R. According to the author, the function of a city is to:
A) Provide adequate communily expression
B) Make available centres of recreation and public gatherings
3 Facilitate traffic and communication
1) Raise the tenor of life and make it more meaningful

4, The opening sentence of the passage implies that;
A) The possibilities of living a decent life cannot be found in a city
B Only a city can provide the means to lead a full life
C) Amaong other places, a city can also help man to lead a successful life
) A city provides better opportunities for good living than a village

Passape 11:

True, it is the function of the army to maintain law and order in abnormal times. But in normal
Himes, there is another force that compels citizens (o obey the laws and to act with due regard to
the rights of others, The force also profects the lives and the properties of law abiding men. Laws
are made to secure the personal safely of its subjects and to prevent murder and crimes of
violence. They are made to secure the property of the citizens against theft and damage to profect
*he rights of communities and castes to carry out their customs and ceremonies, 5o long as they
4o not conflict with the rights of others, Now the good citizen, of his own free will obeys these
laws and takes care that everything he does is done with due regard 1o the rights and well-being
of others, Put the bad citizen is only restrained from breaking these laws by fear of the
consequence of his actions. And the necessary steps to compel the bad citizen to sct as a good
citizen are taken by this foree. The supreme control of law and order in a State is in the hands of
a Minister who is responsible to the State Assembly and acts through the Inspector General of
Police.

1.  The expression ‘customs and ceremonies’ means:
A) Fairs and festivals
) Habits and traditions
() Usual practices and religious rites
I3 Supersiitions and formalities
(2)
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A suitable title for the passage would be:
A) The function of the army

B Laws and the people's rights

) The fear of the law and citizen’s security
[3) The functions of the police

Which of the following is not implied in the passage?

A) Law protects those who respect il

B} Law ensures people's eeligious and social vights absolutely and unconditionally
C) A criminal s deterred From commitiing crimes only for lear of the law

[ The forces of Tuw help o ranslonn irresponsible cilizens mlo responsible ones

According to the wrter, which one of the following is not the responsibility of the pohice?
A) To protect the privileges of all citizens

B Ta check viclent activities of citizens

C} 'l'o ensure peace among citizens by safepuarding individual rights

¥y To maintain peace during extraordinary circumstances

Which ol the following reflects the mam thrust of the passage’?

A Lt deals with the importance of the army in maintaining law and order

B} It highlights role of the police as superior to that of the army

C) M discusses the roles of the army and the police 1 dilTerent circumstances

12} It points to the responsibility of the Minister and the Inspector General of Police

“Thev are made to secure the property of citizens against theft and damage", means that the law:
A) Helps in recovering the stolen property of the citizens

¥} Assisl the citizens whose properly has been slolen or destroyved

C) Initiate process against offenders of law

7] Safeguard people's possessions apainst being stolen or lost

Clut of the following which ong has the opposite meaning W the word “restrained” in the passape’?

A Promoted B} Encouraged )y Intruded 1¥) Inhibited

Which one of the following statement iz implied in the passage?

A) Peaceful cilizens seldom violate the law, bul bad citizens have 1o be restrainad by the poiice
B} Criminals. who flout the law, are seldom brought to bool:

) The police hardly succeed in converting bad citizens into good cilizens

[3) The police check the cifizens, whether they are good or bad, from violating the law

(3



1% Which of the following stulements expresses most accuraiely the idea contained in the first
sentence?
A) Tt is the job of the army to ensure internal peace at all times
B It is the police thal should always enforee law and order in the country
) Army and the palice ensure people's securily through combined operations
¥} Tt i% in exceptional circumstances that the army has to ensure pesce 1n the countey

19,  The last sentence of the passage implies that:

A) The Inspector General of Police is the sole authority in matters of law and order

B} In every State, maintenanee of public peace is under the overall control of the
responsible Minister,

') A Minister and a responsible State Assembly exercise direct suthorily in matiers
pertaining 1o law aml erder.

[3) The Inspector General of Police is responsible to the State Assembly for maintaimng
law and order

Passape 1T1:

‘ost economisls in the United States scem captivated by the spell of the lree market.
Consequently, nothing seems good or normal that does not accord with the requirements of the
free market. A price that is determined by the seller or, for that matter, established by anyone
other than the agpregate of CONSWMETS SCeS pErMICIONS.

Accordingly, it requires a major act of will to think of price-fixing (the determination of prices
by the seller) as both "normal” and having o valuable economie function, In fact, price-fixing is
normal in all industrialized societies hecanse the ndustrial system itself provides, as an effortless
consequence of its own development.

Muodern industrial planning requires and rewards great size, Hence, a comparatively small
pumber of Jarge firms will be competing for the same group of consumers, That cach large lirm
will act with consideration of its own needs und thus aveid selling its produets for more than its
competitors charge is commonly recognized by advocates of free-murket economic theories. But
each large firm will also act with (ull consideration of the needs that it has in common with the
othet larze firms competing for the same customers.

Each larpe firm will thus aveid significant price-cutting, because price-cutting would be
prejudicial to the comeman interest in a stable demand for products. Most economists do not see
price-fixing when it cccurs because they ¢xpect it Lo be brought about by a number of explicit
agreemenis among large firms,

Moreover, those economists who argue that allowing the free markel 1o operate withaout
interference is the most eflicient method of catablishing prices have not considered the
economies of non-socialist countries other than the United states. These cconomies employ
mtentional price-fixing, vsually in an overt fashion.

Formal price-fixing by cartel and informal price-fixing by agreements covering the members of
an industry are commonplace. Were there something peculiarly efficient ahoul the free market
andl inefficient about price-fixing, the countries that have avoided the first and used the second
would have suffered drstically in their economic development? There is no indication that they
have,

i<k



o, The author's attitudes woward “Most economists in the United States™ can best be described as:

A Spiteful and envious 1) Scornful and denunciatory
C) Critical and condescending 71 Ambivalent but deferential

21, Ttecan beinferred from the author's argument that a price lixed by the seller "seems pernicious”
because:

A) People do not have confidence in large firms

B} PPeople do not expeet the povernment to regulate prices

) Most economists believe thal consumers as a group should determine prices

Ly Mast economists associale lixed prices with communist and socialist econemics

22, According to the suthor, price-fixing in open market economies is ofien:

A Accidental bat productive By Megal and selfish

C) Legal anul innovalive D} Traditional and rigid
23. In nom-socialist countries, price fixing 15 oflen

A% Done intentional ly B3 Mot done at all

) Teft to the seller 17} Left to the consumers

24, What advocates of free-murkel economy often don't realize is:
A) That the [arge firms are not interested in price-fixing
B That the largs firms recognize their own needs as well as those of their competitors
€ ) That the large firms are non-competitive
D) That the large firms fix their own prices

25, In this passape, the author mainly wanls Lo
A) Predict the consequences of a praclice 1) Criticize a point of view
C) Propose a topic for research 1) Summarize conflicting opinions

Directions (. Nos, 26-30): What should come in place of the question marks in the following
guesfions?

26, (5l 2 x <12« =I3813

A) 250 B) 400 ) 300 Dy 150
27, 25.6% of 250+ r=119

A) 4223 By 3025 £ 2025 D) 5625
8. 36865+ 12473+ 21045 - 441027

A) 114483 [3) 28081 C) 2628] ) 114845
20 (153200 - 103.04 + T =§

Ay 12 B) 6.5 C) 82 ) (46

(3)
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T2 8% x 20? = 619
A5 By L5 0.2 [3)2.4

Ol ol Bs. 8000, Gopal invested a corfain sum o scheme A and the remaining £0m i
scheme B for two vears. Both the schemes offer compound inlerest {compounded
anmually], The rates of interest of scheme A and 13 are 10% per annum and 20% per
annum respectively. I the wial amount aceried by him after two vears from both the
achemes wopether was Rs. 10600, then what wis the amount invested in scheme BY

A) Rs. 4000 i) Ras 4800 ) Rs 5200 D} Hs 3600

The respective ratin of Avinash's present age and Shashi’s present age is 9:5. Avinash is
54 vears old al present. How many vears ago the respective ratio of their ages was TR

A) 12 years By 6 vears CYy 9 yeurs [y 15 years

A car mravels from Clty A to City B at an averape speed of 60 km/h and reaches city B on
time, 11 the car reduces its speed ta 30 kaw/h, it takes 16 min more to reach City B. What
iz the distance between City A and City B?

At KO km 7 85 km ) B2 km D 84 km

The dinmeter of a cirele is egual 1o the disgonal of a square whase ared is Ta4 m® . What
is the area of the cirele?

A) 1186 m* By 1232 m* C) 1272.m° Dy 1324 m'

Ihe price of # books and 24 registers is R, 1760, If the price of ane book is Rs 124
more than the price of one register, what s the lutal price of 4 books and 2 registers?

&) Rs. 512 By R= 674 C} Rs. 756 ¥y Re. 640

Directions for Question No. 36 to 45:

Siudy the following pattern depicting household expenditure of an urbanite tamily on various
heads. Answer the questions fhose follow:

.

a) Expenses on fiisl 30%0
by House Rent/water and electricity 25%
¢} Children education (school eehooks! 1294

Stationery, elc.)

) Clathing (summer/winter dresses/sofl 18%
furnishing, ete.)

e) Mizcellancous (medical expenses'holudays 15%
fgntertainment/pN2gs, o, )

Take —home pay of family is Rs. 2,30, How muoch amount on an average they are
paving towards clothing/soft-furnishing per month?

AJ Rs. 304 B} R, 414 C) Rs. 264 D} Ra. 334
{6)



38,

19.

40,

41.

42

43.

A family is spending Rs. 1700 towards house rent, electricity and water, and Rs, 204}
towards expenses on Food/milkfruits cte. remaining amount they are spacing on items
{0, D7 and ‘E’ based on the information given here. How much monthly income the
family 15 having?

A Rs. 3800 B) Bs. 6000 ) Rs. 6300 1) Ra. 6300

A newly married couple is earning together Bs, 33004, 1f they spend their monthly
earning based on the table given above, how much can they save the first two years of
their marriage?

A) Rs, 18004 3 Rs. D ) Bs. TOORD D) Es. 10008

If a family spends Rs, 6600 per annum towards house rent including other amenities
{Water‘electricity, ete.) what should be their monthly income (lake-home salary)?

A} Ras. 3500 By Rs. 2200 ) Rs. GROD [} Bs, 63500

A family is spending 30% towards food, 253% towards house rent and 13% om
miscellaneous expenses.  What should be their monthly carmings il they spend Rs. 816
per month for their children educativm?

A) B GHH [} Rs. 66K ) Fos. GEON) D) Rs. 6875

In a family, a couple has a son and a daughter, The ape ol the father is three times that of
his danghter and the age of the son is half of that ol his mother. The wifc is 9 years
vounger to her husband and the brother is seven years older than his sister, Whal is the
age of the mother?

A 40 years B) 45 years 7 30 voars ¥} 60 years

A certain number of horses and an equal number of men are going somewhere. Half of
the awners are on their horses” back while the remaining ones are walking along leading
their horses, If the number of legs walking on the ground is 70, how many horses are
there?

A 10 B) 12 C) 14 D) 16

A, B, C, Dand E play a pame of cards, A says to B, “If you give me three cards, vou will
have as many as B has and if 1 give you three cards, yon will have as many as 1> has. ™ A
and B wogether have 10 cards more thun what 1D and E together have, 10 B has two cards
more than what C has and the 1otal mumber of cards be 132, bow many cards docs 13
have?!

A) 22 B) 23 () 25 D) 35

In & town, 65% people watched the news on television, (% read a newspaper and 23%
read a newspaper and watched the news on television also. What percent of the people
neither watched the news on television nor rend a newspaper?

A)S B) 10 083 0 1320

In a group of 15 peaple, 7 read French, 8 read Enplish while 3 of them read none of these
twrer. How many of them read French and English both?

Ay By 3 ) 4 D) 5
{7}



46. A group consisting of 25 teachers, 20 engineers, 18 doctors amd 12 salesman visited a fair
and spent Rs. 13300 altogether. W was found that 5 teachers spent as much as 4
engincers, 12 engineers spent as much as 9 doctors amd 6 doctors spent as much as 8
qalesmen. If every person in a professional group spent the same amount, find the
amount spent by each engineer,

A) Rs. 140 By Ks 175 ) Rs. 18O ) Rs. 210

47, AB.C and D play a game of cards. A says to B, “if | give you 8 cards, you will have as
many as C has and 1 shall have 3 less than what C has. Also, if I take & cards from C, |
shall have twice as many as [ has™. I and D together have 50 cards, how many cards

has A got?
A al) 1) 37 27 By 23
48, In an examindtion, a student scores 4 marks for every correct answer and loses 1 mark for

every wrong answer, 17 he attempts in all 60 quéstions and scorves 130 marks. the number
of guestions he altempls correct]y, 18

A} 35 1) 18 ) <40 Dy 42

49 Al a farm, there are hens, cows and bullecks, and the keepers 1o look alter them. There
arc 09 heads less than legs; the number of cows and hens is the same and there 15 one
kecper per ten birds and caitle. The total nunber ot hens plus cows and bullocks, and
their keepers does not exeesd 300 How many cows are there?

A) 16 By 14 Cj 12 o 10

S0, From & number of apples, 2 man sells half the number of existing apples plus 1 1o the first
customer, sells 13" of the remaining apples plus 1 to the second customer and L5 of
the remaining apples plus 1 to the third cusiomer, He then finds that he has 3 apples Jeit
How many apples did he have originally’!

Al 15 3) 18 ) 20 Dy 25

S, Pointing out toa givl a man said *My encle is the uncle of this girls’s uncle™ How is the
man related with that girl?

A Brother B Father ) Father in law I3 Cousin

52.  Fis the brother of A, C is the daughter ol A, K is the sister of F and G 15 the brother of O
then who 15 the uncle of G7

AR 1 K CyC I Mone of thes.:

L
ik

Leels, whe is Sohan®s danghter says o Lalita. "Your mother Alka 15 the younger sister of
my father, who is the thivd child of Raja.” Establish the relationship between Raja and

Lalita?
A) Father Ay Uncle
1 Maternal Grand Father ) vone of these

(H)



34, A iz the father of B, C is the brother of A, F is the sister of B if M is the father of A, then
establish relationship between F and C?

A) Daughter and Father B} Husband and Wife
) Brother and Sister [} Niece and Uncle

55.  Inacode language 35796 is writlen as 44887, Find the code for 46823
A) 55914 Bi57154 ) 55934 D) 55745
56, IFBOY is coded as ACNPXZ. What will be the code for LIFET
A) KMHIEGDF B LMGHEGDF ) LMHIGEFD D) None of these

57.  Fill in the blank with suitable figures.

S 16 10 V
L 28 20 P
A B

A) 30,38 B) 38,40 ) 38,30 Dy 40,32

38, If HIM means 936, and Cam means 3% what will be the code for MAP?
A) 98 B 114 ) 4l 1) 208

Directions: Cerain words'terms are given helow in each question. All are similar in nature
excepl one which is different, Fick oul the odd one.

59.  Bulband Light, Sun and Heat , Clock and Time, River and Pond, Chimney and Smoke

A) Chimney and Smoke B Sun and Heat
) Clock and Time D) River and Pond

60, 212,323, 848,411, 121
A) 411 B) 323 ) 12) D) 212

&1.  Mars, Earth , Jupiter. Moon,
A) Earth B lupiter C) Mars 13} Moon

62,  Horse Cow, Dog , Deer, Rabbit ,Goat
A Goat B) Dog ) Rabhbit 1) Horse

Directions: Two objects, events or concepls are related in some way, you have to establish the
same relationship with the other two objects, events or concepts on the basis of the alternatives
given helow each gquestion,

63. Light: Sun :: Heat ;7
A Electricity B) Moon C) Fire ¥ Star

(9)



&, Woiting: Boredom :; Education = 7

A Class B Enlightenment ) Schooling 1) Cunning

65,  EGIK: FILO:FHIL:
A) GIMP B} GIPM Cy HGMN D) GMID

fift. kRN
A) 27 Bi2o ) 50 ) 625

Directions: Two ohjects or cvenls are related in some wary. Y ou have to pick out only that option
which has the same (vpe of relationship as stated in each question?

6. Machines and Pullies

A) Knife and Fruits B Car and Wheels
) Bread and Bulter 3% Tron and Doors

8. Cold and Hot

A) Dy and Hour B Januvary and June
Cy January and February 1) Mone ol these

Directions; Complete the following series by choosing the best from among (he alternatives
given balow cach question.

69, CWE FOU, RDT, 7
A} XBZ By TGU £ MCD D) FUT

0.  JEMAM, ?

A)M Bl Cyn mMm&
1. BEEBETL HPMLELER,...°
A} NHR B) MIE C) MHR D) NHS

£l d-1, p-4, =% m-16, 7

A) =49 B)p-25 £ g-36 D18
Directions: Study the numbers and complete the series by the suitable alternatives given against
cach question:

13 eI, .
A} IS B} 12 )18 D) 17

74, 128, 64, 32....
A 16 By 30 C18 Dy 4

75 43,12082189....21
A)S B4 _ (y3 Dy 7
(la)



The bar graph given below shows the sales of books (in thousand sumbers) from six branches of
a publishing company during twoe cansecutive vears 2000 and 2001, Sales of Books (in thousand
numbers) [rom Six Branches - B1, B2, B3, B4, B3 und 16 of a publishing Company in 2000 and

2001,

16.
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Sales {in thoesand aumbers]

Branchos 82000 = 2001
What is the ratio of the total sales of branch B2 lor both years to the total sales of branch
B4 lor both vears?
Aj2:3 B} 3:5 ) 45 1Y) 7:9

Total sales of branch B6 for both the yeurs is what percent of the wial sules of branches
B3 for both the years?

Ay 68, 54% B)71.11% Cr15.17% D) 75.55%

What percent of the average sales of branches B1, B2 and B3 in 2001 is the average sales
of branches B1, B3 and B& in 200857

A} T5% By 77.5% C) 82.5% D) 87.5%

What i3 the average sales of all the branches {in thousand numbers) for the vear 200817
AYT3 LERRA ) ’3 [y B8

Total sales of branches B1, B3 and BS together for both the years (in thousand numbers} is7
A) 25 B 310 ) 435 [ 560

Look at this series; 34, 34, 30, 28, 24, .. What number should come next?
A)Z0 B 22 )23 ¥ 26

Lok at this series: 7, 10, &, 11, 9, 12, ... What number should come next?
A7 B)12 Cy 10 Dy 13

(11}
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A person crosses a 600 m long street in 5 minutes. What is his speed in km per hour?
A)ie By 7.2 C) R4 [y 10

A man on tour travels first 160 km at 64 kn/hr and the next 160 km at 80 km/hr, The
average speed for the first 320 km of the tour 1s:
AY35.55 knv'he B) 36 kmi‘hr Cy 7111 km'he ) 71 kmvhr

Alfred buys an old scooter for Rs. 4700 and spends Rs. 800 on its repairs. If he sclls the
scoofer for Rs. SBOD. his gain percent is:

4 3

A) 4 —34 B) & i
4 5 3 T Yo

C)10% ) 12%

What least number must be added to 1056, so that the sum is completely divisible by 237
A)2 B3 C) 18 D321

A sum of money at simple interest amounts 1o Rs, 815 in 3 vears and to Rs, §54 in 4
years, The sum 15!

A) Rs. 630 B) Rs. 690 C} Rs. 698 ) Rs. 700

An accurate clock shows § o'clock in the morning. Through how may degrees will the
hour hand rotate when the clock shows 2 o'clock in the afternoan?

A) 1442 B) 15(¢ ) 1682 D) 1802

Find the greatest number that will divide 43, 91 and 183 s0 as to leave the same
remainder in each case.

Ayd B)7 C)9 m13
162

What should come in place of both % in the equation % = .

A) 12 B 14 ) 144 ) 196

Study the following table and answer the questions based on it. Expenditures of a Company (in
Lakh Rupees) per annum over the given Years,

l

liem of Expenditure

g Salary |Fuel and Trl.:lapurl Bonus lntere;t on Loans Taxes

1998 | 288 o8 | 300 234 81

1999 | 342 | 12 253 | 12.5 108

‘2000 | 324 101 584 416 74

2001 | 336 138 3.68 16.4 88

@__iﬁd 142 396 | 49.4 o8
€123
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What is the average amount of interest per year which the company had to pay during this
period?

A} Rs. 32.43 lakhs B) Rs. 33.72 lakhs

Cy Rs. 34.1% lakhs D} Rs, 36.66 lakhs

The total amount of bonus paid by the company during the given period is approximately
what percent of the total amount of salary paid during this peripd?

A% B) 0.5% C) 1% D) 1.25%
Total expenditure on all these items in 1998 was approximately what percent of the total
gxpenditure in 20027

A) B2 B} 66% C) 69% ) 1%

The total expenditure of the company over these items during the year 2000 is7

A) Bs. 544,44 lakhs By Rs. 501.11 lakhs

C) Rs. 4406.46 lakhs D) Rs, 478.87 lakhs

The ratio between the total expenditure on Taxes for all the years and the total

expenditure on Fuel and Transport for all the years respectively is approximately?

A 4T B) 10:13 C) 15:18 D) 5:8

The largest 4 digit number exactly divisible by &8 ix:
A} 9944 [3) 9768 C) 998E D) 8838

In a box, there are 8 red, 7 blue and & green balls, One ball is picked up randomly. What
15 the probatality that it 15 neither red noe green?

| 3 S B
Al = B) : ) 7 L} =
A train running at the speed of 60 keo'he crosses a pole in 9 seconds. What is the length of
the train?
A) 120 melres By 180 metres, 3 324 metres D) 150 metres

A batsman scored 110 runs which included 3 boundaries and B sixes. What percent of lus
tofal seore did he make by running between the wickets?

A) 45% B)45 =% C) 54 =% D) 55%

A man has Rs. 480 in the denvminations of ene-rupee notes, five-rupee notes and ten-
rupee notes. The number of noles of each denomination is equal. What 15 the total
number of noles that he has??

A) 45 B) 60 C) 75 D) 90
K
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